EARAROBREBRT —5 XN—ZXBISH—F

20235108315 (A) 16@ER2H

IIREE B 1# 5%

\(9&1@1 n ‘[%EH%F&] | & 100 =

[AE%] 17%:1,000,000  ~ 237&:280,000  37%&:140,000 9 ~ 43 :100,000 @ 5 & :80,000

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
= [ EIv : -3-2- - &E—8 (&R
1 NEZE=N 12 B 1.(2_3).3 4-3-2-1 | 37.8 1 zzgf |
RYISTUIFYN BHISEL—F BiE &
o JESATT : -6-6- - FHiE—th (&R
IRPATE 4 5 e 1.(239).0 6-6-6-4 | 37.9 5 (4_459) A
RiFVyvB/FE+ H:bySITF ERRIS
< S EFEAT : -9-9- - Hig—t (R
k] 3 EAEERS c 79574 "4 57.0 (11219/22) AR KA 2 (ﬁg) 262 @R
R:F4—IIIART4 BieyvibIY BHHES
23 o4 | BUER 1:29.4 2-2-1-2 | 39.0| - 3 513 | Bl (&R
4lgla|Fyyay 5.0 M (ra) | SAEIE
RE—UR B:JLUZHF Ji=ae
SHRIS B4 | SHRE 1:29.4 10-10-10-8 | 37.7 | — 4 | 497 |EEEE (&R
50811729 RISRI— 5.0 F9%) 3 |AlLRE
RFRIAVL—Y BRFUVTLAY S—L— - VvV - Tr—LERE
= A iz : -5-4- - BRME (&R
A BEETE B4 ) 1(.32/94.)5 4-5-4-3 | 38.7 8 (4:97) %zs%m
R:O—RAF0O7 BANLT«F—L TATFAT7—L
: t 7 | PRt 1:29.6 11-11-11-10| 37.4 | — 7 | 405 |FHE—th (&R
71710 T—AT7IYR ! 5.0 s (| @ F=k-T-2
R:O—LIF 40 B:Eyd—vvA4RY B RE
. - o . Py _ SEFE (&R
" S\ nesnsny B4 T (12310/21) 8-8-8-8 | 38.8 9 (4+112) Dl
RAYNUPYFY B9 LOIVT—F BHoEHS
$ sy P hEREt : ~7-4- - HiE—th (&R
9111 |T1vvr—v v 5| BB 1.(341).0 7-7-4-7 | 40.2 6 (4+529) o
RiAWTz—JIL B:FFOYNDYaY Eiale ]
. ERESELRE : -1-3- - aRke (&R
olsls |97 vr—270 B4 o= 1.(341).8 1-1-3-6 | 41.2 10 (4+_r,59) %ﬁ&ﬁq
Rib—tyIS4 b B:TVI—L =i =
W st 5 | KEx 1:31.9 3-3-6-11 [ 40.9| - 11 | 439 |SEEz &R
1My 2| /by 7 54.0 ) 1) RiEF
R:ME—XO—F— B:ITEIFE— HEKs
o = BEHRU - - - - - — | #EE—" &R
ol 8 | ARV PUF 4 s Ry (50 ) |EBxiE
RiFVyvB/ 8+ B:NvY TATAT7—1L
@ 11— —®BIEfI
10—+— 5,12,2,(4,9),6,1,7,3,11,10
20—F— 5,12,(2,4),9,6,1,7,3,11,10
30—7— 12,4,5,(1,9),(2,6),7,3,11,10
43—F— 4,12,9,(3,6),5,1, (7,11),10,2
o ILRE
B B 4 260 | | 94 R 4-6 910M % 5E 4-5 2,840 3EE 3-4-6 2,110
7B B 4 140 3-4 290M4 B 4-5 5,400 3EH 4-6-3 11,020
6 210 3-6 930/ /B & 4-6 2,270
3 140 =51 4-6 3,180

ABIC OV TRUTEREERRODDZE. THRIIZEL.




